118 45

Bobbin Thread Remaining Amount Detecting Device

FTREERMEKE

AE-9

29345303
No.1366-00




_____________ PARTNO. _______DESCRIPTION ______ v VoA A qty
1 #01  GAE-09000CA0 DETECTING DEVICE KIT C PZ IS AU EUL S S IN 1
2 #02  GAE-09000DA0 DETECTING DEVICE KIT D SZ IS AMUEUL SN )] 1
3 #04  GAE-08000EAQ DETECTING DEVICE KIT E P2 S AV ED V2 3N ) 1
4 #05  GAE-09000FA0Q DETECTING DEVICE KIT F JALM YYassyFEy b 1
5 #07  SM-4860801-SC SCREW M2.6 L=8 FATI%Y° M2.6 L=8 (2)
[ 07 BT-0400251-EB URETHANE HOSE, BLACK 9V3YE-2 70 (1.m)
7 #07  SM-6031002-TP HEXAGONAL BOLT M3 X 10 nYH77 3% bh M3X0.5 L=10 (1)
8 #07  WP-0430800-SC WASHER M4 LI R 3 I3 Avh M4 (1)
9 507  BT-0400251-EB URETHANE HOSE, BLACK 9LAvE-2 0 (1.7)

10 #07  GAE-10117000 FIBER ADAPTER A TTAN =T 7 HA (1)

1T #07 GAE-10118000 FIBER ADAPTER B TN <73 7 4B [4))

12 #01  GAE-101050A0 SENSOR AMPLIFIER A ASM. ATV A 43 (1)

13 #07  SM-4030501-SC SCREW M3X0.5 L=5 Fa 2%y M3X0.5 L=5 (4)

14 09 GAE-09009000 AMPLIFIER FITTING PLATE TV ML (1)

15 #09  GAE-10008040 SOLENOID VALVE ASM. FYY AV PR (1)

16 509 SM-4032001-SC SCREW M3X0.5 L=20 FNIZY N3 L=20 2y

17 #03  D6029-555-B0A NYLON PLUG 6P 6P F{Ov7° 35° (1)

18 #03  GAE-101020A0 CABLE ASM. FYFIA VI-N 43 (1)

19 #03  GAE-101000A0 DETECTING BOARD COMPL. FYFEN Y V83 (1)

20 GAE-101010A0 DETECTING BOARD ASM. FYFEN Y 73 (1)

21 GAE-TOT080A0 BUZZER ASH. 7T¥F - 73 [€3)

22 #03  SK-3482501-SE WOOD SCREW D=4.8 L=25 W23y D=4.8 L=25 (2)

23 403 GAE-101030A0 DETECTING SWITCH ASM. TYFIL9F 93 (1)

24 #09  GAE-10104000 SWITCHI BRACKET A{9FMYII14 (0

25 #09  EA-9500B00-00 CLIP CV-70S VIR Vb 60 (10)

26 #07 GAE-10116000 F CUTTER I7hy8- (1)

27 #07  GAE-090010A0 ALUMI BOBBIN ASK. TAIR O V(r3) (2)

28 #08  GAE-090010A0 ALUMI BOBBIN ASN. TR b v(r3) (4)

29 #08  GAE-090050A0 SENSOR FOTTING BASE ASM. LANIYEE A (53) (2)

30 #08  GAE-10107000 FIBER SENSOR TYAN -kv (2)

31 #08  SHM-4860801-SC SCREW M2.6 L=8 FN I3y MZ.6 L=8 (€3]

32 #08 BT-0400251-EB URETHANE HOSE, BLACK YLAYE-X 40 (1.7)

33 #08  BT-0400251-EB URETHANE HOSE, BLACK YAYE-Z D (1.7)

34 #08  SM-6031002-TP HEXAGONAL BOLT M3 X 10 nYHI7HF Wb M3X0.5 L=10 (2)

35 08  WP-0430800-SC WASHER M4 L5H A 3 TIh AL M4 (2)

36 308  GAE-10117000 FIBER ADAPTER A TTAN 7% 7 BA 2)

37 #08  GAE-10118000 FIBER ADAPTER B IYAN =78 7 HB (2)

38 #08 BT-040025]1-EB URETHANE HOSE, BLACK IVAVE-Z 40 (0.45)

39 #08  BT-0400251-EB URETHANE HOSE, BLACK IVAVE-Z 70 (0.23)

40 #08  PJ-3080400-02 QUICK COUPLING YYAIFIR 5 (1)

41 #08 BT-0400251-EB URETHANE HOSE, BLACK LRV F-2 7 (1.7

42 #08  SM-4031201-SC SCREW M3 X 12 FATI3Y M3X0.5 L=12 (4)

43 #02  GAE-101060A0 SENSOR AMPLIFIER B ASM. Y477 B(43) (1

44 #08  GAE-10116000 F CUTTER I7hya- (2)

45 #09  107-61906 TUBE SUPPORT (RIGHT) F19-7" $31(3¥ ) (1)

46 #09 SL-4030691-3C SCREW M3X6 FNIXY vAZ M3X0.5 L=6 [@3)

47 #08  107-62003 TUBE SUPPORT (LEFT) Fag-7"$31(ba ¥) (n

48 #08  SL-4030691-SC SCREW M3X6 FAT23Y ¥AX M3X0.5 L=6 (1)

49 #03  HK-0045900-0A 6-POLE NYLON PLUG COVER 755" §n° - 6P 41 (n

50 #07  GAE-090050A0 SENSOR FITTING BASE ASM. TYIRYYSE 1(23) (1)

51 #07 GAE-10107000 FIBER SENSOR TTAN —%v¥ (1)

52 #04  GAE-090110A0 SENSOR AMPLIFIER C ASM. A7V C 43 @3]

53 #05  GAE-090110B0 SENSOR AMPLIFIER D ASM. Y477 D 43 (@8]

54 #06  GAE-090100A0 DETECTING SWITCH B ASM. FUFA{y#B I3 (0

NOTE (#i2) #01....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT C
#02....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT D
#03....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT C,D
#04....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT E
#05....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT F
#06. .. FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KITE, ¥
#07....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT C,E
#08....FOR BOBBIN THREAD REMAINING
AMOUNT DETECTING KIT D, F
#09....COMMON TO BOBBIN THREAD
REMAINING AMOUNT DETECTING

TRBERHE Y NCH
ThRBRBEREFY NDB
TAHABRERHMFY NC, DA
THEZ®RA* Y NEA
THREERA*Y FA
TABREREFY MEFA
THREZBRAMFY MC,EA
THBERA+Y ND,FA
FTARBEBRMF Y NC,D,E,FHE

KIT C,D,E,F
0 LEBCE JUKI st et
HBLIKS, T
To ord for furth
JUKI CORPORATION information,

please contact :

KIDNR=Y YR MIBHRBRBOLDFELEETIENSHY T,

L Thao Ancmrintinm mmcimaras e dlaim somsda 1md e e ladm md dm ol e o £ b



